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ijh{kk dk ekè;e % fgUnh     vaxzsth

fuEu Hkkx oh{kd }kjk gh Hkjk tkosaA

vH;kFkhZ osQ vuqozQekad ,oa igpku i=k dks izos'k i=k ls feyku i'pkr~ 
gh oh{kd ckWDl gLrk{kj djsa %

;fn vH;FkhZ vuqfpr lk/u dk mi;ksx djrs gq, ik;k tkrk gS rks oh{kd 

fuEukafdr xksys dks dkys@uhys isu ls Hkjs ,oa rRdky osQUnzkè;{k dks lwfpr djsa%

(osQUnzkè;{k osQ gLrk{kj ,oa lhy ijh{kk Hkou esa)
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IMPORTANT NOTES

egRoiw.kZ funsZ'k
(A)	 ç'uksÙkj iqfLrdk esa ç'u gy djus ls iwoZ mlds layXu vks- ,e- vkj- i=kd dks Hkyh çdkj ls Hkj ysaA
	 Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
(B)	 fgUnh O;kdj.k@fgUnh fuca/ ds ç'u&i=k dks NksM+dj] vU; lHkh ç'u&i=kksa dk fgUnh vFkok vaxzsth esa mÙkj fy•k 

tk ldrk gSA
	 Except Hindi Grammar/Hindi Essay question paper, all other question papers can be written either in Hindi 

or English language.
(C)	 vH;fFkZ;ksa dks vius mÙkj fu/kZfjr 'kCnksa dh lhek ls vf/d ugha fy•uk pkfg,A bldk mYya?ku djus ij vad dkVs 

tk,¡xsA vH;FkhZ mÙkj nh xbZ ykbZuksa ds vanj gh fy•saA •kyh LFkku ij Xi;k u fy•saA
	 The candidates should not write the answer beyond the prescribed limit of word; failing which, marks will be 

deducted. Candidates should write the answers within the given lines. Please do not write in the blank space.
(D)	 çR;sd ç'u dk mÙkj ç'uksÙkj iqfLrdk esa fu/kZfjr LFkku ij gh fy•saA ç'uksÙkj iqfLrdk (jiQ dk;Z ds i`"B lfgr) 

ds vanj fdlh Hkkx ij vuqØekad] viuk uke] vU; dksbZ uke] irk ;k vU; dksbZ igpku fpÉ vafdr u djsaA mÙkj 
iqfLrdk ds lkFk vU; dksbZ lkexzh layXu djuk oftZr gSA bu funZs'kksa dk mYya?ku djus ij vkosnd dks dksbZ uksfVl 
fn;s fcuk mldh mEehnokjh fujLr dh tk,xhA

	 Please write answers only in the prescribed space of booklet. Do not make any mark of identity inside the 
booklet (including rough paper page) like roll number, name, any other name, address or such other mark: 
Do not enclose anything with the answer booklet. The candidature of candidates violating these instructions 
would be cancelledwithout even giving them any other notices.

(E)	 vH;fFkZ;ksa dks funZsf'kr fd;k tkrk gS fd ç'uksÙkj iqfLrdk esa çR;sd i`"B esa cukbZ xbZ ckMZj ykbZu ls ckgj çR;qÙkj 
ugha fy•saA ckMZj ykbZu ds ckgj fy•s x;s mÙkj dks ijh{kd }kjk tk¡pk ugha tk,xkA

	 Candidates are directed that they should not write (answer) outside the border line in every page. Answer 
written outside the border line will not be checked by the Examiner.

(F) 	 ;fn fdlh ç'u esa fdlh çdkj dh dksbZ eqæ.k ;k rF;kRed çdkj dh =kqfV gks] rks ç'u ds fgUnh rFkk vaxzsth :ikUrjksa 
esa ls fgUnh :ikUrj ekU; gksxkA

	 If there is any sort of ambiguity/mistake either of printing or of factual nature then out of Hindi and English 
version of the question, the Hindi version will be treated as standard.

(G)	 vH;FkhZ dks ç'uksÙkj iqfLrdk lhycan çnku dh xbZ gSA
	 The Question-Answer Booklet is provided in a sealed to the candidate.
(H)	 vH;FkhZ ç'uksÙkj iqfLrdk ds Åij layXu bl vks- ,e- vkj- i=kd ij lHkh okafNr fooj.k uhys@dkys cky isu ls 

lko/kuhiwoZd HkjsaA è;ku j•sa fd ;g vks- ,e- vkj- i=kd dgha ls dVs&iQVs vFkok fdlh Hkh çdkj ls {kfrxzLr ugha 
gksA

	 Candidate should fill up all the desired details on this attached OMR Sheet of Question-Answer Booklet with 
Blue/black ball point pen. Please ensure that this OMR Sheet is not torn or damaged.

(I)	 ;g vks- ,e- vkj- i=kd nks Hkkxksa esa gS] ftlesa dfri; lwpuk,¡ iwoZeqfær gSaA 'ks"k dh iwfrZ vH;FkhZ dks djuh gSaA
	 This OMR Sheet consists of two parts in which some information is pre-printed; remaining details have to be 

filled by the candidates.
(J)	 ;fn ç'uksÙkj iqfLrdk dgha ls dVh&iQVh ;k veqfær gS] rks rRdky oh{kd ds è;ku esa yk nsa rFkk mls cnyok ysa] 

vU;Fkk mldk nkf;Ro vH;FkhZ dk gksxkA
	 If the Question-Answer Booklet is torn or not printed properly, immediately bring it to notice of invigilator 

and get changed the Question-Answer Booklet, otherwise the candidate will be liable for that.
	 fo'ks"k uksV % vH;FkhZ }kjk ;fn vks- ,e- vkj- i=kd ij xyr lwpuk Hkjh tkrh gS ;k mls fdlh çdkj dh {kfr igq¡pkbZ tkrh 

gS rks vk;ksx }kjk laiw.kZ ijh{kk gsrq vH;fFkZrk fujLr dh tk,xh vkSj mlds fy, vH;FkhZ Lo;a mÙkjnk;h gksxkA
	 Special Note: If there is any wrong information filled by the candidate then his/her candidature for the entire 

examination shall be rejected by the commission, for which he/she will be held responsible.

SPECIAL INSTRUCTION

fo'ks"k funZs'k
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(A)	 ç'u&i=k nks •.Mksa ̂ v* rFkk ̂ c* esa foHkkftr gSA çR;sd •aM esa rhu eq[; ç'u gSa ftlds varxZr Øe'k% vfr y?kqÙkjh;] 
y?kqÙkjh; ,oa nh?kZ mÙkjh; mi & ç'u iwNs x, gSaA nh?kZ mÙkjh; ç'u esa vkarfjd fodYi fn;s x, gSaA çR;sd ç'u ds 
le{k mlds iw.kkZad vafdr fd;s x, gSaA

	 The question paper is divided into two Sections as ‘A’ and ‘B’. There are three main questions in each section-
which are very short type, short type and long type questions, where there are sub-questions in each question. 
There is internal choice in long type questions. The maximum marks are printed in front of question.

iz'u&i= lkekU; vè;;u Øekad&r`rh;

[k.M (v)

dsoy ijh{kd ds fy,

iz'u ozQekd
01 02 03
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14
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;ksx

egk;ksx

fooj.k vadksa esa 'kCnksa esa gLrk{kj ,oa fnukad

ewY;kadd }kjk iznÙk vad

mieq[; ijh{kd }kjk la'kksf/r vad

eq[; ijh{kd }kjk la'kksf/r vad

tkapdrkZ }kjk la'kksf/r vad

mi[k.M



4

DO N
OT W

RIT
E H

ERE



SECTION-A/[kaM  - v

5

ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA  
Q: 1.	 This question contains 15 very short answer type sub questions. Answer each question 

ideally in 20 words. All questions are compulsory. Each question carries 02 (two) 

marks.  	 (2 × 15 = 30)

ç'u % (1-1)	 fxx vFkZO;oLFkk D;k gS\  

		  What is gig economy?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-2)	 foLrkjoknh jktdks"kh; uhfr D;k gS rFkk bldk mís'; D;k gksrk gS\

                     What is expansionary fiscal policy and what is its objective?

mÙkj % _____________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-3)	 vkRefuHkZj eè;çns'k jksMeSi ds ik¡p eq[; ea=k dkSu&dkSu ls gSa\

                         What are the five main mantras of the Atmanirbhar Madhya Pradesh roadmap?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-4)	 NFHS&5 ds vuqlkj eè;çns'k esa dqiks"k.k dh fLFkfr esa D;k lq/kj gqvk gS rFkk jk"Vªh; 

Lrj ij jkT; dh D;k fLFkfr jgh\

		  According to NFHS-5, what has been the improvement in the condition of malnutrition 

in Madhya Pradesh and what is the state's position at the national level? 

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

SECTION-A/[kaM  - v
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ç'u % 1- bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA lHkh 

ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA 

Q: 1.	 This question contains 15 very short answer type sub questions. Answer each question 
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.	

	 (2 × 15 = 30)

ç'u % (1-5)	 okfyl ,oa jkcVZl ds vuqlkj lead D;k gSa rFkk ;s fdl :i esa O;Dr gksrs gSa\

		  According to Wallis and Roberts, what are the data and in what form are they expressed?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-6)	 lk/u ykxr D;k gksrh gS\ 

	 What is resource cost?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-7)	 varjjk"Vªh; eqæk dks"k (IMF) dh LFkkiuk dc] dgk¡ vkSj fdlds çLrko ij gqbZ rFkk bldk 

eq[;ky; dgk¡ fLFkr gS\ 

	 When, where and on whose proposal was the International Monetary Fund (IMF) established 
and where is its headquarters located?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-8)	 fpUukSj pkoy fdl ftys esa mRikfnr gksrk gS] bldh fo'ks"krk,¡ D;k gSa\

	 In which district is Chinnor rice produced, what are its characteristics?  

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

SECTION-A/[kaM  - v
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ç'u % 1-	bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA lHkh 

ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA 

Q: 1.	 This question contains 15 very short answer type sub questions. Answer each question 
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.	

	 (2 × 15 = 30)

ç'u % (1-9)	 iwathxr çkfIr;k¡ D;k gksrh gSa\ buds eq[; lzksrksa dk mYys• djsaA  

	 What are capital receipts? Mention their main sources. 

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-10)	dsUæh; ço`fÙk ds eki D;k gSa rFkk blds dkSu&dkSu ls çeq• çdkj çpfyr gSa\

	 What are the measures of central tendency and what are its main types?  

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-11)	Tokj dh çeq• Ñf"k fo'ks"krk,¡ D;k gSa\  

	 What are the main agricultural characteristics of sorghum?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-12)	bZ&Je iksVZy dc çkjaHk gqvk] bldk mís'; D;k gS rFkk bldh çeq• fo'ks"krk D;k gS\

	 When was the e-Shram portal started, what is its objective and what is its main feature?

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________
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ç'u % 1-	bl ç'u esa 15 vfry?kqÙkjh; mi&ç'u gSaA çR;sd ç'u gsrq vkn'kZ 'kCn lhek 20 'kCn gksxhA lHkh 

ç'u vfuok;Z gSaA çR;sd ç'u 02 (nks) vadksa dk gSA 

Q: 1.	 This question contains 15 very short answer type sub questions. Answer each question ideally 
in 20 words. All questions are compulsory. Each question carries 02 (two) marks.			

	 (2 × 15 = 30)

ç'u % (1-13)	varnZs'kh; daVsuj fMiks (ICD) D;k gS] blds eq[; dk;Z D;k gSa rFkk eè;çns'k esa dgk¡&dgk¡ 

fLFkr gSa\

	 What is Inland Container Depot (ICD), what are its main functions and where are they 
located in Madhya Pradesh?     

mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-14)	ykfyek vfHk;ku D;k gS] dc çkjaHk gqvk rFkk bldk mís'; D;k gS\   

	 What is Lalima Abhiyan, when did it start and what is its objective?     
mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

ç'u % (1-15)	;kn`fPNd ijh{k.k D;k gS rFkk blds ifj.kke dks fdl çdkj ifjHkkf"kr fd;k tkrk gS\     

	 What is random testing and how are its results defined? 
mÙkj % ______________________________________________________________________________

 ______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

SECTION-A/[kaM  - v
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ç'u % 2-	bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA        

Q : 	 2.	 This question contains 10 short answer type sub-questions. Answer each question ideally 
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.		

		  (7 × 10 = 70)

ç'u % (2-1)	 eksuks ØkWfiax D;k gS\ blds ykHk ,oa gkfu;ka la{ksi esa fyf•,A

	 What is mono cropping? Briefly write its advantages and disadvantages.  

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-2)	 Hkkjr esa {ks=kh; vlarqyu lkekftd&vkfFkZd fodkl esa ck/k mRiUu djrk gSA la{ksi esa Li"V 

dhft,A

	 Regional imbalance in India hinders socio-economic development. Explain briefly.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

SECTION-A/[kaM  - v
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ç'u % 2-	bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA        

Q : 	 2.	 This question contains 10 short answer type sub-questions. Answer each question ideally 
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.		
		  (7 × 10 = 70)

ç'u % (2-3)	 eè; çns'k esa ^,d ftyk ,d mRikn* (ODOP) ;kstuk dk mís'; D;k gS\ la{ksi esa Li"V 
dhft,A

		  What is the objective of 'One District One Product' (ODOP) scheme in Madhya Pradesh? 
Explain briefly. 

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-4)	 jk"Vªh; fldy lsy ,uhfe;k mUewyu fe'ku dk mís'; D;k gS\ eè;çns'k dh Hkwfedk vkSj 
miyfC/;ksa ds lkFk Li"V dhft,A 

		  What is the objective of National Sickle Cell Anemia Eradication Mission? Explain with 
the role and achievements of Madhya Pradesh. 

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________
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ç'u % 2-	bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA        

Q : 	 2.	 This question contains 10 short answer type sub-questions. Answer each question ideally 
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.		

	 (7 × 10 = 70)

ç'u % (2-5)	 çkf;drk dh mi;ksfxrk dk la{ksi esa o.kZu dhft,A

		  Briefly describe the utility of probability.     

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-6)	 ç/kuea=kh iQly chek ;kstuk D;k gS\ blds çeq• ykHk la{ksi esa fyf•,A

	 What is Pradhan Mantri Fasal Bima Yojana? Briefly write its major benefits.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

SECTION-A/[kaM  - v
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ç'u % 2-	bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 
lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA        

Q : 	 2.	 This question contains 10 short answer type sub-questions. Answer each question ideally 
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.		
	 (7 × 10 = 70)

ç'u % (2-7)	 varjjk"Vªh; eqæk dks"k D;k gS\ blds mís';] dk;Z rFkk Hkkjr ls laca/ksa dks la{ksi esa Li"V 
dhft,A

		  What is International Monetary Fund? Briefly explain its objectives, functions and 
relations with India. 

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-8)	 eè; çns'k ds xzkeh.k fodkl esa i'kqikyu dh Hkwfedk dk ewY;kadu dhft,A 

	 Evaluate the role of animal husbandry in rural development of Madhya Pradesh.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________
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ç'u % 2-	bl ç'u esa 10 y?kqÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 60 'kCn gksxhA 

lHkh ç'u vfuok;Z gSaA çR;sd ç'u 07 (lkr) vadksa dk gSA        

Q : 	 2.	 This question contains 10 short answer type sub-questions. Answer each question ideally 
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.		

	 (7 × 10 = 70)

ç'u % (2-9)	 foÙkh; lekos'ku D;k gS\ blds mís';] egRo] çeq• pqukSfr;ka rFkk Hkkjr ljdkj }kjk 

fd, x, ç;klksa dk laf{kIr mYys• dhft,A 

		  What is financial inclusion? Briefly mention its objectives, importance, major challenges 

and efforts made by the Government of India.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

ç'u % (2-10)	¶ekfè;dk ds xq.kksa dk o.kZu dhft,A¸ 

	 "Describe the properties of median."-

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u % (3-1)	 fodflr Hkkjr dh laHkkoukvksa vkSj çeq• pqukSfr;ksa dk mYys• djrs gq, ¶fotu bafM;k 
@2047¸ dh çeq• fo'ks"krkvksa dk o.kZu dhft,A

		  Describe the main features of "Vision India @2047" mentioning the possibilities and major 
challenges of developed India.   

vFkok@OR
	 	 jktdks"kh; uhfr D;k gS\ blds mís';] çdkj rFkk gky ds o"kks± esa Hkkjr ljdkj }kjk viuk, x, 

çeq• mik;ksa dk mYys• dhft,A   

		  What is fiscal policy? Mention its objectives, types and the major measures adopted by the 
Government of India in recent years.

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u% (3.1) continued (tkjh)

	 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u % (3-2)	 eè; çns'k esa i;ZVu {ks=k dh orZeku fLFkfr] mldh pqukSfr;k¡ ,oa lek/ku dh fn'kk esa jkT; 
ljdkj ds ç;klksa dk ewY;kadu dhft,A

		  Evaluate the current status of tourism sector in Madhya Pradesh, its challenges and the 
efforts of the state government towards solutions.    

vFkok@OR
		  eè; çns'k dh tula[;k ds vFkZO;oLFkk ij ldkjkRed vkSj udkjkRed çHkko dks Li"V dhft,A 

		  Explain the positive and negative impact of the population of Madhya Pradesh on the 
economy.          

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u% (3.2) continued (tkjh)

	 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u % (3-3)	 vuqekukRed lkaf[;dh ls vki D;k le>rs gSa\ bldh çeq• fof/;ksa] fo'ks"krkvksa ,oa 
vuqla/ku esa mi;ksx dh laf{kIr foospuk dhft,A

		  What do you understand by inferential statistics? Briefly discuss its main methods, 
features and use in research. 

vFkok@OR
		  ldy ?kjsyw mRikn (GDP) vkSj ldy ewY; o/Zu (GVA) esa D;k varj gS\ mnkgj.k lfgr 

le>kb, fd uhfr fuekZ.k esa bu nksuksa ladsrdksa dh D;k mi;ksfxrk gS\

		  What is the difference between Gross Domestic Product (GDP) and Gross Value Add-
ed (GVA)? Explain with examples what is the utility of these two indicators in policy 
making?  

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u% (3.3) continued (tkjh)

	 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u % (3-4)	 Hkkjr esa •k| lqj{kk dh orZeku fLFkfr dk o.kZu dhft,A blds çeq• ?kVdksa] pqukSfr;ksa 
rFkk gky ds o"kks± esa ljdkj }kjk mBk, x, dneksa dk mYys• dhft,A

		  Describe the current status of food security in India. Mention its major components, 
challenges and the steps taken by the government in recent years. 

vFkok@OR
		  eè; çns'k dh xzkeh.k vFkZO;oLFkk esa gLrf'kYi m|ksx dk egRo Li"V dhft,A blds laj{k.k gsrq 

fdu ç;klksa dh vko';drk gS\ 

		  Explain the importance of handicraft industry in the rural economy of Madhya Pradesh. 
What efforts are required for its protection?

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u% (3.4) continued (tkjh)

	 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u % (3-5)	 eè;çns'k esa ckSf¼d laink vf/dkj (IPR) ls tqM+s çeq• laxBuksa vkSj dsaæksa dh Hkwfedk dk 
o.kZu djrs gq, jkT; ds uokpkj ,oa LVkVZvi ikfjfLFkfrdh ra=k dh fLFkfr Li"V dhft,A 

		  Explain the status of the state's innovation and startup ecosystem by describing the role of 
major organizations and centers related to Intellectual Property Rights (IPR) in Madhya 
Pradesh.

vFkok@OR
		  ;kn`fPNd çfrp;u dh ifjHkk"kk nhft, ,oa blds xq.k] nks"k vkSj lhekvksa dh foospuk dhft,A

		  Define random sampling and discuss its merits, demerits and limitations.  

mÙkj % ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________
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ç'u % 3	 bl ç'u esa 05 nh?kZ mÙkjh; mi&ç'u gSaA çR;sd ç'u ds mÙkj gsrq vkn'kZ 'kCn lhek 200 'kCn 
gSA lHkh ç'u vfuok;Z gSaA çR;sd ç'u 10 (nl) vadksa dk gSA

Q: 3.		  This question contains 05 long answer type sub-questions. Answer each question ideally 
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.		
		  (10 x 5 = 50)

ç'u% (3.5) continued (tkjh)

	 ________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

 ________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________

_________________________________________________________________________________

________________________________________________________________________________
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